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Answer-to-Question-_1

Part 1:
The first questions is whether this is actuallyriagoor whether this is really a

qualified scholarship/employer assistance progranaer 88 117 and 127 respectively.

~S’s Taxes~

Prize: S will not want this to be considered a@rit it is a prize it is included in
S’s gross income unless it meets the requiremar8Z4(b). It was received (supposedly)
for educational achievement but we don’t know & thother or S herself entered S for
the prize. If she did not there is the questiowbéther S will have to render substantial
future service. There may be some stipulation oatwhe has to do in school to keep
scholarship but that is not service to the comp&mally, S will not want this to be
considered a prize because she does not wantedlgvi00k away to a charity, etc.

Paying tuition to a non-taxable entity is almosesunot “giving way” the money.

Employer Educational Assistance Program: S wilb ast want this to be
education assistance. Exclusion of such assistarapped at $5,250, so the remaining

amount would be considered income and taxed airttiaary rate.

Qualified Scholarship: S wants this to be a sclsbigrbut qualified scholarships
are excludible only for tuition and related expengghough, this is likely the bulk of the
cost. Therefore, S will likely have to argue thasia scholarship for the tuition but

income for the room and board.
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Under 1(g) S will be taxed at the mother’s rateaag unearned income to the
daughter if she is younger than 18 or still recein®re than half of her support from her
parents (Kiddie Tax). So, any amounts not excledvill be stacked on the parents

income and taxed at the appropriate rate.

~Employer’'s Taxes~

Presumably paying for education for an employeanoemployees spouse or
dependent would be a form of compensation anddkdsctible under § 162 as and
ordinary & necessary business expense. Eyebrowlst tagaised about no one being
taxed on these amounts because they are deductib@ femployer and excluded from
the recipient but this is not terribly uncommong($&132) and is done to create
incentives for employers to offer such programg édbenefits really accrue to the

employers).

Part 2:

~E’s Taxes~

Under 8§ 119 E may be able to exclude the cost pkanh meals from his gross
income. He eats them on the employer’s premisey,dhe provided by the employer, the
only question is, whether they are for the convereeof the employer. We do not
consider the fact that the employee has a choiemwabsessing this (8 119(a)(1)). The
fact that there is a cafeteria may indicate thiatfthal prong is met but more facts would

be needed.



410962 410962

Institution Harvard Law School Course / Session S16 Warren - Taxation
Exam Mode OPEN LAPTOP NA
Extegrity Exam4 > 15.8.22.0 Section All Page 4 of 18

This could also be excluded under § 132(e) asdtiagefacility is on the premises,
so long as the revenue derived is equal to or grélaén the operating costs. Fictional
revenue can be created if § 119 is satisfied becswsh free meals are considered to
have been paid for at the value of the operatirsgsc@elow you will see that the

employers will want E to exclude under § 132(e).

~Employer Taxes~
The employer will have to capitalize any costs g&k reduced by any amount
spent above 50k) before active trade or busines®dégun. It looks like it has begun now

though because employees are there.

Under § 162 the employer can deduct such expensesdals as O&N but §
274(n)(1) reduces that deduction to 50%. But, genses are excluded as a de minimis
fringe (8 132(e)) then the (n)(1) exclusion doesapply. The employer should set up his
business model such that no one is taxed on sualsnfigossible by having them be

excluded under 8§ 132(e) and then deducting thererud 62 + § 274(n)(2)(b).

Part 3:

~Greenacre~

The grandson will receive a carryover basis frommgrandfather (15k) but because
there is a loss, if the grandson were to sellatlibsis will be the FMV at the time of the
transfer (neither the grandfather nor the granadsaitd realize a loss on the gift). As

such, the grandson should hang on to it until firapiates in value and then sell it, at
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which time it would likely get capital gains, maybeen 8§ 1231 promised land treatment
if the real property has been held for more thaar.ygolling continues if the basis

remains the same).

The grandfather has no realization event, no losgamn, the property is simply

transferred.

~Bank Account~

The question of the account and the interest mrstiblair question. The account
itself is definitely property. The interest paynmedb not look like a carve out (horst)
because the grandson also has the tree and thi#sgrawould certainly have an
equitable interest (blair) in the interest paymemtd could get an injunction against the
bank if they were messing things up (but dependstate law). So, because the whole
tree has been given (to use the horticultural ninetgpthe interest will be taxed to the

grandson, not the grandfather.

Part 4.
This is on all-fours withrarid. First, A will be taxed on her income from movie
making under 8§ 61 as ordinary income (unless spaitsin assets then probably capital

gains).

Second, if the transfer happens before the mar(@geFarid) Farid will govern
but if they wait to make the transfer until aftee tmarriage then 8§ 1041 governs. This is

not a like kind exchange because the assets asemitdr enough (comparisons are
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broad for real property but not so much for otre=eds). If Farid, then S’s basis in the
portfolio would be its FMV of $1m. As iRaytheon it would be difficult to assess the
basis in the potential rights to A’'s assets assheuse so a basis of zero would likely be
assumed (burden is on the TP to show otherwis49¥)7Due to this zero basis and
unlike Farid, there may be taxable gain to S. TharCin Farid did its analysis post hoc.
If there is 1m in gain to S, it is unclear whethewill be taxed as Ol or CG. It is unclear
what is substitutes for under Hort (probably sossets, some cash), the equitable rights
are also unclear without knowing what is being stided and the relevant state law
(Ferrer). They could simplify the whole procesgumst doing this after the marriage (see
below) but then S will not get the step-up basis lieing taxed for $1m doesn’t sound
great either. If S can get the exact outcome &aiid, he should go for it but it is unclear

if the IRS would let that happen now.

If 8 1041 controls, there will be a carryover basisl no gain or loss will be

recognized by either S or A.

Part 5:
First, D will be able to deduct any interest paigiothe length of this loan under 8

163 (business loans).

Second, it looks like he is angling to take advgataf TuftsO’Connor depending
on whether this is a recourse or non-recourse loéwoks like it might be recourse
because the facts indicate that he might be orlg/talpartially satisfy the debt but both

analysis may be pertinent.



410962 410962

Institution Harvard Law School Course / Session S16 Warren - Taxation

Exam Mode OPEN LAPTOP NA

Extegrity Exam4 > 15.8.22.0 Section All Page 7 of 18
FMV #1 - 4m

Initial Loan - 3m

Personal Investment - 1m
Depreciation Deductions - 900k
Loan Repayment - 600k

FMV #2 - 400k

The real world loss for D would be 1.6m becausetiested 1m and repaid 600k
of the principal. Crane fn. 37 was rejected bec#usas an attempt to take both the
borrowers and Lender’s losses and apply them tbdhewer as a deductible loss

(though you can still see this in the property jporof O’Connor’s analysis).

Tufts: Non-Recourse

The AR under tufts is 2.4m (loan minus any repayinéddis basis is the full cost
(FMV of loan when it was received, personal invesmtbominus any depreciation), 3.1m.
This means that D’s present loss is 700k but hesallvloss, taking into account the
depreciation he has taken, is 1.6m, the same aedlisvorld loss. The present loss,
because it came form a depreciable property (uad&7), will likely get promised land
treatment under 8§ 1231, and can be deducted asleraxy loss (8 165). As this is the
analysis under non-recourse, the bank can take @e2inction for partial bad debt (8

166), the amount of that loss is gone forever amtt de retrieved.

O’Connor: Recourse
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This is where the lender wants to be. The first pathis bifurcated analysis is the
asset, the second part is the liability:

~Asset~

The AR is 400k (FMV of the property when surrend@rdhe basis is the same as
under Tufts, 3.1m, meaning there is present logb®msset of 2.7m. This loss, as above
likely falls under § 1231 and therefore is fullyddetible as an ordinary loss.

~Liability~

The AR is the same as Tufts, 2.4m. The basis iEkhe of the property when
surrendered, 400k. The present GAIN will be 2mDofT his will be taxed as ordinary
income, forgiveness of indebtedness (unless hes@vent, but there is no indication that
this is the case).

It turns out that when you add the 2m gain andtfi€'capital” loss you get 700k
loss, just like under Tufts. O’Connor used a ddfd@rsystem because capital assets and
debt forgiveness are taxed differently but thisasthe case when there is a loss on the
property side of her analysis and that propertieisreciable, or real property that has
been held for one year (8 1231). It makes her arsaBuperfluous.

That being said, in this case the lender can g Bfts other assets and try to
reclaim that 2m. If he is insolvent or cannot ottise pay, they can still deduct this as a

partial bad debt under § 166.
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Answer-to-Question-_2

~Offer #1~

This is a fascinating problem because it implicéitresHort line of cases but the
income substituted for would héNtaxed if received by Phelps in 5 years. To deteemin
if it the payment of 5m today will be taxed as talpgains, it is important to not that a
legal right to restitution may not be property ungd221 (even though it is read
broadly,Arkansas Best). If it were it might also be excluded under “diani to a property
interest like copyright, or patent under § 1221agnd thus might fall out of that
section. For these perplexing questions we uselthtline of cases and the horticultural
reference (am | the only one that thinks it is fyitimat Hort adopted thidorticultural

reference for the distinction between CG and OI?).

Hort/Lake: This is a lump some for a future paymtéat, if not for 8 139F would
be taxed as Ol. The fact that it would be excludgieder 8 139F probably has little
bearing and so would be seen as a replacement®Ilpifbblem is the substitution
principle undeiRatheyon coupled with the view of human capital implicatedPL 107-
16 8 803. If the rationale for excluding the amaigrthat the basis in being imprisoned is
equal to any restitution received then he probabbuldn’t be taxed for these lump sums
either. Additionally, if human capital is propedpnder § 1221 then it should be a

replacement for capital gains. It is unclear, §kiewould be Ol because he electing to
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receive the money early.

Ferrer: Though it depends on state law, therdeédylian equitable interest in right
to receive restitution. He could get an injunctagainst the law firm if they were
purposely destroying his cases or if they wergdiing without his consent. It is tricky
though because he could also just be paid the h@amages. Again, depending on the
state law, he would likely have an equitable irdeeand therefore would be taxed as

capital gains.

Lattera: The family resemblance test is little halpight to receive restitution
doesn't look like stock. As to the carve-out, ibks like this is a vertical division, the
whole tree is being transferred over. The threp &st could stop here but if the court
didn’t, the question would be is it earned incoma aight to receive future income. It is
earned income, the litigation isn’t earning it, false imprisonment did. Therefore, there
could be conflicting outcomes under this test (frde at the carve-out and Ol as to the
character of the asset). This will probably notheetest used by the Ct (unless this
occurs in the 3d cir) because the court was detspbkese, using a student note to try to

solve the problem. Hard cases make bad law.

Overall, i think it is more likely that this lumus will be taxed as OI. Under this
offer is also looks like Phelps would still havepay the legal fees. If that is the case
under Tellier he would not be able to deduct thealise seeking restitution for a
personal offense is almost certainly not “profiels@g activity.” But if the wealthy

individual pays the legal fees then she would liket able to deduct them as purchasing
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his right to restitution is an investment, one wheould allow him to deduct such fees

under 88 162/212.

A could be seen as investing 5m with the potewfialoubling his profit in 5 years.
If he hold the interest for that long, he will lligebe able to get longterm capital gains.
Any loses on this right to receive the restitutiaiti only be deductible under § 1211
(only to the extent of other capital gains) becaisgh a right is not depreciable/real
property and does not qualify under 8 1231. Shs aunisk of a loss but a 5m gain taxed
at a measly 20% isn’t bad. The big question is ndweg 139F carries over to A (or if he
sells it to someone else, to another holder ofitig, see below), making this gain non-
taxable. The provision itself seems to indicate thaust be held by the individual
himself to recover but the assignment to A mayamainge the tax consequences. If that

is true, A needs to pay more than 5m.

If A sold his interest in the money to someone,edss money received would
likely be taxed as Capital Gains under all threststeJnder Hort it would be replacing a
capital asset that is used as an investment, lretegr, there would almost certainly be a
right to an injunction (again, subject to relevatate law), and under Lattera, the three-
step test would probably end at step 1 becausegthieto receive the restitution has a

“family resemblance” to other investment assets.

There is also the possibility that A could makéa kind exchange with another
investment asset but we would need more facthtdr Generally, it wouldn’t change

anything for A and the other party because gaislesses aren’t recognized (as long as
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no boots are involved). It would just change whilhiee interest.

The law firm is in good shape, it will get paidhet way. Such payments will be

taxed as Ol (i don’t know partnership tax so i wetive it there).

~Offer #2~

This offer is completely different than the one abldnstead of selling the interest,
Phelps is receiving a loan which is not taxablthenpresent because of the offsetting
liability to repay. The interest rate is at marketthere is no 8 7872 problem. Because it
is non-recourse Phelps is able to hedge, if no pnoomes back he gets to walk away.
He just has to pay the relatively higher interast reflective of a non-recourse loan

(which may be substantial.

The interest on this loan is personal interest wisamon-deductible under §
163(h), unless there is an exception for qualifesidence, but that is not what is
happening here (though if he bought a home withnibaey, it would make that personal

interest deductible, he is just capped at $1mHertome).

B could sell the loan to someone else, banks amet dinancial institutions do it all
the time. In such case, as above, the loan is\astiment asset and any amount received
would be taxed as capital gains (unless like kixchange, from which not gain/loss is

recognized, as above).
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While Phelps has the protection of non-recourse,lalowing him to walk away,
B gets a lot of interest income (taxed as OI) mneantime and has the option of taking

a partial bad debt deduction (8 166) if this whblieg goes south.

~Recommendation~

Mr. Phelps is unlikely to have any other money k@ to as he is a convicted
(albeit pardoned) felon. Both offers give him momeyv but offer #2 is the superior
option. There is no tax on the loan and, while tabdably won’t get any deductions under
8 163(h), there is no income to take such dedustamainst. He is also protected against
the possibility of not getting anything in the Iawit because he can walk away from the
debt if he loses. The only real downside is thevbald have to pay the legal fees as well

(they could, possibly, be paid by A in offer #1).

Offer 1 would require Phelps (very likely) to paxés now on money that
otherwise would be tax free, and relinquish alhtitp the money. Under Offer #2, Phelps
would still get to keep something probably approadimg 4-5m even after paying his

debts.

| recommend Phelps take Offer #2, that way he basegnoney for current
expenses etc. If he chooses to take offer #1 pimetend getting A to pay the legal fees
(as they would be deductible to him anyway) anthefexcludability of 8 139F carries
over, to pay at least 6m instead of just 5, adeotg taxed is worth at least 2m to him (at

20% CG rate) and as much as 4m (at a 39.6% ordratey.
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Answer-to-Question-_3

This question gets at the heart of the purposeafoédove the line and below the
line deductions. What is the line? What does it idiofdr example, the standard
deduction is about a basis living expense, it shbel above the line. If it is about
administrability it is located appropriately belome line. But AGI does not appear to be
about preserving to the taxpayer the minimum stdrste as it includes § 162
deductions, their inclusion seems more about crgaticentives than about subsistence.
The original rationale for adjustments was to emagea and incentivizes profit-seeking
expenses, to help business grow. Understood idigjmdf the inclusion of union dues

may be consistent with the original rationale.

Constitutionality:

There is no question, given the case law that thetog of a deduction for union
dues at all is a matter of congressional gracereliseno constitutional right to such a
deduction and therefore no requirement that anglegn be passed. The money used to
pay such dues is after-tax dollars, there has heealization event and thus can be

constitutionally taxed under the 16th amendmEgrdngr).

Fairness:

Giving an above the line deduction for union duesi\ remove the 8§ 67 itemized
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deduction floor. This would primarily benefit low tniddle income individuals because
they are the ones that primarily are part of unemd such individuals are far less likely
to itemize in the first place; they likely take tstandard deduction. As such, it is unlikely

to affect wealthier taxpayers as generally areart pf unions.

This will go a small way to granting a deductioattactually helps the indigent
more than the wealthy as deductions, by their paave more beneficial to those be taxed
at a higher rate. The only caveat here is how npe@ople it would help in reality: if these
individuals are generally taking the standard deédndhere is a chance that there is no
income to deduct against. In which case, a refuledadedit would be more valuable (but
would create very different incentive. But, givéaatthe unions are asking for this, it
seems fair to say that there would be a signifigaotip of union worker that would

benefit.

Economic Efficiency:

There is little question that giving an above ihe deduction would increase the
incentives to join a union because the cost ofipgirsuch a union would decline
(assuming union workers have taxable income to deafyainst). On the other hand, it is
possible that this would be similar to allowing@&Ildeductions for § 132 fringes; the

benefits disproportionately accrue to the union amdn leaders, not to the workers.

In the 162/132 context, a business gets to detleatdst of the fringe and then gets
to offer less in the way of cash compensation bezdoe benefit is not taxed to the

employee. This means that the employee is gettinghly the same compensation in a
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different form, the government is receiving lesgeraeie and but the employer get to
deduct a the same rate but decrease compensaliaf tide benefits of the § 132/162

relationship accrue to the business, it is lik@asgnment subsidy.

That same may be true here. If an above the lidaad®n is given, the union can
charge more in union dues, getting more revenuey Ty not raise them all the way to
zero out the benefit to the worker but the diffeebetween the old union dues and the

new union dues is an indirect subsidy from the faldgovernment.

Like deducting state and local taxes under § 164, mhay be a good way to hide
the ball politically (which I won’t discuss furtheand may be consistent with the
incentives that Congress wants to create. If Casgneants to increase union
membership and give a subsidy to the unions witpassing a bill saying just that, this

would be an effective way to do so.

Administrability:

This legislation would not be impractical. It wouldt be difficult to have the
Unions send to the IRS paper work saying how musbrudues were or even to give a
list of the individuals who paid. This could be déga compared to the tax returns of the
workers in case of an audit and would requireeligtktra work. Moreover, if the onus was
on the unions to prepare and keep these records,aohthe increase in paperwork, etc.
could be shifted to the unions, with the IRS getimvolved only in rare cases (the lower

and middle classes are rarely audited).
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Additionally, as mentioned above, this would besstent with the original intent
of adjustments. It doesn’t undermine the 8 67 igEmilimit because these individual
would not have been able to deduct and § 63 atilttions just as well, with just a little

more congressional grace for unions.

Recommendation:

As a revenue raising matter, this is a poor chdiasn’t that the government will
have pay out but that it will stop taking in the@mts equal to all union dues. It may not
make sense to have union dues be part of itemiegddations at all because they are
primarily paid by non-wealthy taxpayers and iterdizieductions are taken primarily but
the more well-off portion of the tax base. Therfareorder to make the deduction for
union dues more consistent with 88 62, 63, and@iFject to congress’s interest in
creating these incentives, | recommend that ettteeunion dues deduction be moved
above the line or removed altogether. Either o$¢h@pproaches make the tax treatment
of union dues, as such, more consistent with teeafethe IRC’s statutory scheme and

rationales.



